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RAEES kg 2,000
AZR mm 4,690
BlE B2 mm 1,695
cCE2E mm 1,990
D& mm 3,120
faa~ii E & mm 1,615
F& mm 380
G REM ES mm 900
BHHES kg 2,340
RETFE 3
B/\BlERHE m 5.1
e E cc 2,998
REH7] kW {PS}/rpm 110 {150}/2,840-3,500
BANLZ  N-m {kgf - m/rpm} 370 {37.7}/1,350-2,840
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RARHE kg 3,550
AR mm 5,450
ElE B£iE mm 2,180
CE&F mm 2,455
D& mm 3,400
faa~ii E & mm 2,060
F& mm 330
G REM ES mm 190
BHHES kg 4,205
RETFE 3
B/\BIERHE m 45
e E cc 6,403
REHD kW {PS}/rpm 154 {210}/2,700
BANULZ  N-m {kgf - m/rom} 657 {67.0}/1,600
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